DO NOT OPEN THE SEAL UNTIL INSTRUCTED TO DO SO.

NTSE (T) NTSE — NOV, 2018

Medium : Telugu MENTAL ABILITY TEST Q. Booklet No. XXXXXX
Candidate’s Roll Number Paper-I

Time allowed : 120 Minutes Total Questions : 100 Maximum Marks : 100

INSTRUCTION : Please check that OMR Answer Sheet No. and Question Booklet No. match with each other. If they do

not match immediately replace the Question Booklet and OMR Answer Sheet. Candidate should fill the correct

Question Booklet No. in OMR Answer Sheet.

Instructions to Candidates

Read the following instructions carefully before you answer the questions. Answers are to be SHADED on

a SEPARATE OMR Answer sheet given, with a HB pencil. Read the Instructions printed on the OMR

sheet carefully before answering the questions.

1. Please write your Hall Ticket No. very clearly (only one digit in one block) on the OMR Answer sheet
as given in your admission card. Please see that no block is left unfilled and even Zeros are correctly
transferred to the appropriate blocks on the OMR Answer sheet. For all the subsequent purposes,
your Centre Code No. and other details shall remain the same as given on the Admission Card.

2. Paper-l (Mental Ability Test) consists of 100 questions (Q. Nos. 1 to 100).

3. All questions carry one mark each.

4. Sinceall questions are compulsory, do not try to read through the whole question paper before
beginning to answer it.

5. Begin with the first question and keep trying one question after another till you finish all the
questions.

6. If you do not know the answer to any question, do not spend much time on it and pass on to the next
one. If time permits, you can come back to the questions which you have left in the first instance and
try them again.

7. Since the time allotted to the question paper is very limited, you should make the best use of it by
not spending too much time on any question.

8. Blank pages are provided for rough work at the end of question paper.

9. REMEMBER YOU HAVE TO SHADE ANSWERS ON A SEPARATE OMR ANSWER SHEET PROVIDED.

10. Answer to each question is to be indicated by SHADING the circle having the number of the correct
alternative in the OMR Answer sheet from among the ones given for the corresponding question in
the booklet.

11. Now turn to the next page and start answering the questions.

12. The OMR Answer sheet consists of two copies, the ORIGINAL COPY and the CANDIDATE'S COPY.
Do not separate or displace them. Do not darken the bubbles in two copies of OMR Answer sheets
separately. After the examination, you should hand over the original copy of OMR Answer sheet to
the invigilator of the room and can take away the Candidate's copy of OMR Answer Sheet with
them.

13. The candidate need not return this Question Paper booklet and can take it after completion of the
examination. No candidate should leave the examination hall before the end of the examination.
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PAPER - |
MENTAL ABILITY TEST
(Q. Nos. 1 to 100)
Max. Marks : 100

Note : SHADE the correct alternatives in the OMR Answer Sheet provided, from amongst
the ones given against the corresponding questions in the Question Booklet. For shading
the circles, use a HB pencil.
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Direction: In Question nos. 1to 10:

8005 XX 38 VD Rogry SO 28 K08
S200od. :.;%Q 800 mXes0 4 RETTRR
:0@56531025&6&)&)&) (1), 2), (3) o3> (4) & 288
G0N ogxeh WOTFAD. KD DITFTPOODD

(DB, “instructions” 2‘3560.}38&%5(? edocdols.

14,919, 39,79,

(1) 169 (2) 159

(3) 119 (4) 139
2. 11,23, 48,99, , 409

(1) 200 (2) 202

(3) 201 (4) 205
3. 0,7,26,63,124, 215,

(1) 305 (2) 295

(3) 342 (4) 323
4. 7,10,8,11,9, 12,

(1) 13 (2) 16

3) 14 (4) 10
5 0,3,815 24,

(1) 39 (2) 32

(3) 27 (4) 35
6. 10, 26, 74, 218, 650,

(1) 1942 (2) 1950

(3) 1946 (4) 1956

Question Id : 6

7. 8, 24,12, 36, 18, 54,

(1) 27 (2) 108

(3) 68 4) 72
8. 77,91,105, 119,133, 161,

(1) 175 (2) 189

(3) 203 (4) 193

QuestionId : 8

9 3,7,659 3,12,1,15,

(1) 18 (2) 13
(3) -1 4) -3
10. 888, 440, 216, 104,48,
(1) 28 (2) 26
(3) 24 (4) 20

Questionld: 10

Direction: In Question nos. 11 to 20:

20 09T egodvw w8 S 03658956

@&5.15!)&)&?63 %O'Ql eogB50en 0D, FED
’ OO QPAocdEd 20030, 4

szgwcloamgw 28 TPAD JocdS o) €98 O

S0 FRVB.

. A_B_BA_AB_BA
(1) BABB

(3) ABAB

(2) ABAA
(4) ABBA

Question|d : 11

12. ABA _ BACA _ BA _ BACAABAC _ACA

(1) ABCB (2) CABC
(3) CCAB (4) CACB

QuestionId : 12

13. BAA_AAB_A_A_BAA_

(1) BABAB (2) ABAAB

(3) ABABA (4) AABBA
4. A_CC_AAB_CB_

(1) ABCA (2) BCAB

(3) AABC (4) BBCA

Question Id : 14

15. A _BBC _AAB _ CCA _BBCC

(1) BACB (2) ACBA
(3) ABBA (4) CABA

QuestionId : 15

16. ABCA _BCAAB_CA_BBC_A

(1) CCAA (2) BBAA
(3) ABAC (4) ABBA

QuestionId : 16
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25. = -
17. A_CDAAB _CC_DAA _BBB_CCDDD 2=11+3x19

1 - 2) = + -
(1) BDBDA (2) BDDCA W=+ ¢ =~
3) - = 4) + ==+
QuestionId : 17 26. 7 — 5 % 16 _ 19
18. AA_BBB _CCAAAB BC_C (1) +-= (2 - = +
(1) BBCC (2) BCCC B) += 4+ @) x = +
(3) CCBB (4) ACBC Question Id : 26
Questonid:18 | 27. 11 x 7 -23 =15
19. A_CA_BC_BCC _BCA () +=- @) -=x
(1) BBAA (2) BBAB (B) = +- (4 +=-
3 4 Question Id : 27
(3) AABB WBABA w5 611410
(1) -+ = (2) + + =
20. A _CBABC _CB_AB_C 3
(1) CABA (2) ACAB B +-= W= .
(3) BACA (4) ABAB 2. 12=3+19+4
‘ . : Question Id : 20 (1) == (2) X = —
Direction: In Question nos. 21 to 30: (3) 4+ - @) x ==

WX PGS g D 638
EDOINOREDED. oIS RSR[50 3924 9= 7

Question Id : 29

KBRET°CD. %M TP oo X80 @ 4+ @ 12 x
PO JYED R R RIOITPIAP SPENole.
(3) =+ - (4) = + =
21. 14 +2 + 16 =12 Question Id : 30
1) x = + 2) x + = Directionoisln Question nos. 3(1 to 40:
G) @ 20 9 Doayed 28 DESE @ab()ea&é:) 28
+ = - = - = : : o * E
Question Id : 21 % 66 8%‘)' mqg (?) (Q% ) 83 %mé}e
X)@é‘éo:_o?sm HDOCLHOW.
2. 3+5-2=13 ” 2 7 3
o . VANJANYAN
B) +=- (@) x =+ 5 2 2 5 4 7
Question Id : 22 (1) 5 (2) 6
(1) - =+ ) +=+ Question Id : 31
(3) -4+ = (4) X = —
24. 2-7+5=19
(1) +=+ (2) +=-
(B) x + = 4) - + =

Question Id : 24
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B 1323539
42 | 46 | 51
31817
(1) 11 (2) 90
Questiond : 32 (3) 60 (4) 14
Question Id : 38
39. 16 | 49
? 9
3 8
71 4
, (1) 56 (2) 49
Question Id : 33
3) 64 (4) 96
Question Id : 39
40. ) )
108
3
18 6
Question Id : 34 (1) 1 (2) 36
(3) 216 (4) 1944
Question Id : 40
Question Id : 35
Question Id : 36
Question Id : 37
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Direction: In Question nos. 41 to 45:

Column |1& egsswen, Column |l & e90Bew
aetd. Column 11 €' HB o8 Column | &
28 OLEIDD  WDWod. SO PSP
20300 4 HEP§SF) CHIWRE WBDH A Jods
DOIDAD.

Column -1 Column - II
ABLMS 90418
QRLBA 63109
LRNPQ 37261
MSPTQ 87354
RABLS 04961
PLQST 51437
PTQAB 79350
ATRNP 62705
QPNAR 62703
TSLBA 49150
“1. M o) g&
(1) 0 (2) 8
3) 1 @) 6
42 QoB.usb@&
(1) 3 (2) 4
(3) 5 4) 7
43 B 030K g& .
(1) 1 (2) 6
(3) 4 (4) 9
44. PGB g& .
(1) 9 (2) 4
(3) 7 (4) 3
45. S cBxy, g& .
(1) 9 (2) 2
(3) 3 4) 4

Question Id : 45

Direction: In Question nos. 46 to 50:

Column |1€& e9g3de, Column IS es0Bed
XD, Column 11 €D 3 @08 Column | &
28 EEADD  AWKRYPod. T O o
30980 4 Tepgar) WS KB TPAD Ao
LO3DAD.

Column—IColumn—11

GCUHV 56372

CKXJD 95084

UDVGH 37862

DYKVX 18394

HXGJ)Y 06291

CGUDV 25738

HGKDY 14628

UDCKG 42587

KYDXC 19485

GXHID 62980

4. D GO0 g& .
(1) 0

3) 3

) 7
4) 8

Question Id : 46

47 C O30, g& .
(1) 6

3) 3

(2) 5
4) 2

Question Id : 47

4. G OB, g& .
(1) 2

B) 6

() 4
(4) 8

Question Id : 48

49. ) G308, g& .
(1) 4

B) 2

(2) 3
4) 0

Question Id : 49

50. Y Gy, g& .
(1) 8

(3) 1

) 7
4) 3

Question Id : 50
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Direction: In Question nos. 51 to 55:

s 8o LB DATTIEADD B,
QKL 8 0D DIFTPIA0DID) .

S0 TPD £0e0E” DO KRR ¢D.

()P A B, C, D, E 5003 F.

(iN=rDE’ Bocod SRA0IFO ROLRIRP) 00

(i)B €0 2% 2.8 02D, E e a3 Gy, .
(v) Fed & C exdd %3 cxy (SalgXy)
PP, &Swgda.

(v) Eesd <b5§ By, POy, (EPAY) D e
23, R

(vies ewoexn ol BoRD, o8 TWED, a8
EPTTHOIDCD, 208 (HaTeH, QD IF{ERD &P .

51. Eméﬁoamb@abm.?

(1) C 2 D
(3) A (4) csPogo RRF
52. 308 aFDE DEDERD QD ?
(1) Fand D (2) B,Fand A
(3) Band F (4) B, Fand D
53. A e &% G3E); 256 D ?
(1) C ) F
(3) B () E
54. A e %8 B0y 9B D0 ?
(1) derd (2) aﬁvwzgowa)
(3) 53%s S8 erTriood
(4) (f53d
55. 300 TPOS’ WRAINO R0BIXD ?

(2) FD and CA
(4) ED and CF

Question Id : 55

(1) FD and BE
(3) FD and BA

Direction: In Question nos. 56 to 60:
S0l AITFTPEIDD PRI 0D, SDHTFD am‘)
038 0 2PLDVDAD).
2D XA DeD &«6&3).
(D A B, C, D, E &3 F.
(i) A 1w TXERBHE LW, T Sock LoD
(’J?S‘eafo:ﬁ) ToCD.
(i) B, E SriGa0e wb@éés éwm)w .
(iv) D 2208 X559 S°ed.
(V) A, B ri6o0eD, 28 S).
(vi) D a?b@é&s émm) .
56. 308> P DD 2208) HIBeD ?
(1) Cand E (2) Band E
(3) Eand A (4) Band F

Question Id : 56

80 U D Tocd ABIwed TEBHSE
2R30eD ?

57.

(&)
(1) A, D 2) A C
) E, D (4) D F

808> TP 2 B NI ST LR ?
(1) A, D (2) A F
(3) E,D (4) A E

58.

Question Id : 58

59. @ IBID TV T, 208 ACAW eosD0l,

TEEE,S RO T ?
1) A ' (2) B
3) D 4) E

Question Id : 59

S0 U D Tocd ABIwed TEBHE
@mwmmmwsom?
(1) A B (2) B E

3) B, D 4) A F

60.

Question Id : 60
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Direction: In Question nos. 61 to 70:

2D OHE 4 Iverr)om | HHAD JWochI)
LTPLD 28 QoL 8P Yo 1 HERD
S(S €:9) STFLD ST @90 DGR K0e0GADD

£ ). 0cHS” 28 D Saodod. AV 4
SRF§) 05w o (DRocSoC.
61. AFK:BGL::__ :EJO
(1) SXZ (2) DIN
(3) PUZ (4) DHL
62 AZY EXW::IVU:.__
(1) OST (2) TSO
(3) SOT (4) OTS
63. AEZ:EIY::IOX:__
(1) Uyz (2) AEX
(3) EIX (4) oUW
64. AJT:BKU::_ :DMW
(1) ENO (2) CVL
(3) EHF () CLV
65. a@mw:aﬁﬁ?@m::_iw
(1) osgsiwen (2) 50
(3) g (4) es550°eD PRAD
66. DD (G°8) : eSBoro : L EPEDIRID
(1) ﬁé () %@
(3) 58 (4) 20f (AR S
67. LT PEISAD | PCHL : BIiAD
(1) SEocHe (2) Gortsdw o)
(3) Pz (4) Egow

Question Id : 67

68. EETPR0 aﬁri’)wé?&o 3R
(1) oaren (2) mi)wé?oo
(3) TS TR0 (4) Seadwed
60. :Ef)e?é}:%é%)::&g:mm
(1) Do (2) 8850
(3) 2086 (4) Sodso BDO)
70. &%) 1 XY 11 &R
(1) Dexdw (2) S0
(3) essixdy (4) Beny

QuestionId : 70

Direction: In Question nos. 71 to 80:

300 DD Tod HHE DRy €9
%‘J&OAA A, B, C, D e Problem set &Xxd»en 1, 2, 3,
4 e» Answer set éxdden A, Beo aﬁxﬁg 28 X)géq
Q000 . € D e & 2980308
R0L0CIDRD  Fadocxd, Answer  set Kol SR
8x0& D aoxm»e) oaxs oIS,

71. Problem Figures :

21| 2

(3) ﬁ

©) D)

(2) a
(4) ﬁ

Question Id : 71
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72. Problem Figures :

o@o °o o ?
(A) (B) © (D)
(1) A (2)
(3) (4)
A

73. Problem Figures :

QuestionId : 72

=

N

S

(A) (B)

9,
©

Problem Figures :

(1)

(3)

74.

©)

(D)

(2)

(4)

Question Id : 73

/\{'\

— || ——p

A AN,

(1)

(A) (B)

N\
S

(1)

(3)

N

75. Problem Figures :

©)

(2)

(4)

Question Id : 74

at

(3)

(4)

Question Id : 75

76. Problem Figures :

D =|| A,

m [ = D "

(A) (B) (© (D)

(1) N @ | =
D (o
3) N (4) =
< D
77. Problem Figures :

Bﬂ ] |i| ?

(A) (B) ©) (D)
B =t
B I &

78. Problem Figures :
|~ ¢] -
(A) (B) ©) (D)
(1) 5’ () Q
(3) } (4)
p S
79. Problem Figures :
5]

(A) (B) ©) (D)

(1) é () 6
(3) 6 (4) é
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80. Problem Figures :

S| =]k
@ ® © O
(1) ()
L] =
(3) ()

=

—

Question Id : 80

Direction: In Question nos. 81 to 90:
& 300 5B %) 4 0BE 28 DD AN
T Sod DODWP oD, WA (H%oD, D

ROTFTP P TP O3DOD.
81.
(2) (2)
) 2
(3) @ (4) j
82.
(1) A A (2) Ad
(3) Al 4 (4) 4
83.
(1) E (2) D
A | H 8
5 4
(3) F (4) G
Z X26 C 2
6 5

84.

85.

86.

87.

88.

89.

(1)

(3)

(1)

(3)

(1)

(3)

(1)

(3)

(1)

(3)

(1)

(3)

~ |/

(2)

(4)

(2)

(4)

(2)

(4)

(2)

(4)

(2)

(4)

(2)

(4)

Question Id : 84

Question Id : 85

Question Id : 86

Question Id : 87

Question Id : 88

Question Id : 89
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90.
(1)

(3)

X
X

()

(4)

Dol

X

Question Id : 90

Direction: In Question nos. 91 to 100:
DD 5 v A B C D Eewrr
(DDOocSED. BD 28 S’
TR0 DITTPOOWRE 280 @8 SHWD
PED 6 O DD DD, TAD (HPD
RIFPTP ROV TPOZDD.

@%&&é& 4

91. Problem Figures :

(1)

(3)

(1)

3)

S N L 1 1 o
t e dm ir ¥
(A) (B) (©) (D) (E)
X (2) o]
C (4) S
92. Problem Figures :
+ + - +||la - +]||a - +
- of|]- o o ofla o] ?
Anellanellanel| De o °
(A) (B) (C) (D) (E)
- A+ (2) |a -+
a o [m] e
[ ] o
oA (4) |a- +
- a o]
® O + [ ]

Question Id : 91

Question Id : 92

93. Problem Figures :

94.

95.

96.

(e s

(A)
(1)

(3)

(B)

©

Problem Figures :

j
N

(D)
(2)

(4)

&

S

&

&

(A) (B) (C) (D)
(1) @ ()
(3) @ (4)
Problem Figures :
— — ~ ~ —
- N N— — N -\
L | I— -1 L L
(A) (B) (&) (D) (E)
(1) — () —
~— —
[ [
(3) — @) [ «—
~ ~
— [
Problem Figures :
(A) (B) (© (D) (E)
(1) ()
| N
(3) (4)
l /

P e

Question Id : 93

Question Id : 94

Question Id : 95

Question Id : 96
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97. Problem Figures :

NN NN
SEISEEREEES
(A) (B) © (D) (E)
(1) _ ()
N Q
Q NS
(3) _ (4) .
N
N Q
98. Problem Figures :
OAO||O0 X[|X AO0|]|0ODO 4||+AOD
coollnaAc|l*xoalloAx||t0ooO
(A) (B) (© (D) (E)
(1) [pos (2) [so+*
0A? 0A?
B) [ros (4 [oTN
0 AN 0ADO
99. Problem Figures :
N J3 Ju oo cjju C
L C M 3 U
C_ ullm _uylfn yn cjl@a n
(A) (B) (© (D) (E)
(1) |[C C (2) [ M
C M
U n U n
3) [u U 4 (M C
M m
uou N n
100. Problem Figures :
— || o[R! ?

(A)

(B)

(1)

et

(3)

5

(€ (D)

(E)

(2)

T

(4)

1

Question Id : 97

Question Id : 98

Question Id : 99

Question Id : 100
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Space For Rough Work
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Space For Rough Work
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Space For Rough Work
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Space For Rough Work
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